Section 3.8—Polynomial Equations and Inequalities
25. Example Solve x° +3x® —4x— 12 =0 by factoring.

xz(x +3) -4 (X’r9) =0
(Z-4)(xt3) = ©
(x ) (x2)(x13) = ©

26. Example Now solve x> +3x*—4x-12>0.
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27. Example Solve x* - 6x°—40=0. o b x>t
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28. Example Solve 2x® + 12 = 3x2 + 8x.
A~ 3¢ -%x +I2= 0
& (2x-3) <4 (2x-3)= 0
(x2-¢)(2Xx-3) = o
(x+2)(x-2)(2%x-3) = 0

29. Example Show that 2 is a root of the function

P(x)=x>+3x>-11x+2,

and use this information to solve x® +3x*-11x+2<0.
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30. Example Find all 6 complex sixth roots of 64; i.e., compute v/64.
K= ot
x*- ¢4 =0
(- g)(F 13) 7 0

(x -2 X2 +2x £ 2) (x $20)(xX- 1e2) = 0

xPtux £L= O F-ax +1 =0
x*pax vt 7 TR %-1x #[ = “x¥l
(x )= -l (x-1)" = -
x> =t t x>t L
{.Jl‘l
& Tle o L..vf“tw \ oot T ard

Stopping Point This is the end of the material for Exam 3.
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